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Precalc Practice Trig. Equations/Identities Name KGV
I. Solve the following over the interval [0,2;1') unless otherwise indicated. #calculator necessary

(answers supplied on the reverse side)

1. \2cosx+1=0 2. Give all solutions to: A[3 secx +2 =0
3. 2sin’x — sinx =0 4. 1—-sinyx—cosx=10
5. 3sin®x — cos?x =0 *6,  sec’ x—2tanx =4

cscl—secl cosO—sind

. e: . = ; 8. 0 — @ +tand)=sinf —cscd
II. Prove cscO+socl -~ cosO+sind (cos cot & )(sec tan @) = sin csc
Answer:

| {‘%_fr’S_:rl 2. {5—f+ 27n, ?i+2ﬂn; where n 1s an integer}

474 6 6
3 {0x£3—”5—”,?—”} 4{01}
4 4 4 4 2
5. ES—E?—E“—F 6. 11.249, 4391, 3z or 2.356,?—?r or 5.498
6 6 6 6 4 4
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I. Solve the following over the interval [0, 27) unless otherwise indicated. =calculator necessary

1. \ﬁcosx+1=0
200y =

-l

= -L
CosX = =

2. Give all solutions to: \f§ secx+2=0

c

3. 2sin’y —siny =

A AGSecx =-2
0 secx=_%

U3

0

x= 3
N0
-3
X= S-{-fzmn X= 2 +2mn|neEz

Sinx (25:n*X-1) =0

SInX =0

s

<

X= o

x=T1

4, 1-sinx-cost =0

250X =|

[sin’x =%

sinx=* {3 ﬁ

=57 =27

2
(I- sin¥) =(cosx ) *
(1=-51nX)(\-SThx) = €05 %X
| -28/nXx + Sin%X = CoS*X
1-28 /X + 3'n2 X = I-Sin%X
232X —2S$hx =0
235nX(Sinx-1) =0
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2sinX-1=0 ;\4) N
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ANX =0 SinX-| =D

SipX =0 SinX =)
( } ) 1Y Check.
~ | =S'nX -CoSX =0
X=o0 X3 x= I 1-SinZ-cosXE =0
€ xnaneos I-1-0=<=0
Check: 1- Sino -€0sD =0 O=oV
I-0~-) =0 o=zoV
| =S/inli —COSTH =0
I-0-+~] 70
20

D 1
5. 3smx-cosx=0

33in%x - (1- $sn?x) =0 X Pythag To
350*X -1 &+ s)in*X =0
43,n2) - =0
@Sinx +\)(2Sin¥-1) =0
2 SinY 41 =0 281n¥-1 =0
3)’ny = ""l/z Siny = ‘/2

o LB

x=, x= 7,

saving journal files Page 4



59

2ls 818

6.

>0

0.

M-

Il Prove:

0" SiN~ (oSO s no

sec’ x-2tanx =4 ¥ PyHW9. T

p——

|+Tan?x-2t1any =¢

Tan2x-2tanx -3 = © X*-2x-3 =o0
(ran¥-3)(tanx+) =0 (xX-3 Y(X4] ) =0
Tany-3=0 tanx+1=0 %
Tan) =3 TanX =<l

Tan™'(3) =X
X% 12990

Y=+ L2490
X% 44,3900

csc 0-secd . cosf-sind

" oscB+secd  cosf+sind
- - 4 . Sino

"

4 4 4 .Sinw

Sine Coso Sinf

Losp - 3in®
_Sinb €050

€059 +3in8

SynB Coso

Cosp -Sinf . Sif0 050 =
Sf/tvogow Cos+5n®

cos6-5in®
€ 0359 +5n@
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8. (cos@ —cot@)(secd +tand)=sinf —cscl

(Cos® - ane ) s+ tane ) =

C - _"l'_' - "_"31’.9 =
a;_?; t (os0Hne 1an9 Cos0  17n0®

| + €os®tane- _ | = _ | =
TN (oSO

Coso 1an® - Cot® Seco =

Cos© 5100 _ (gso . 4+ =
Coso sine  Co%e

Sine — 5—%?)9 =

sine - ¢sce v
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